Solutions Review Problems



Name __________________________
____________ 1) What is the molarity of a solution that has 12.0 grams of sodium sulfate in a 200 mL solution?

____________ 2) What is the molarity of a solution that is prepared by dissolving 5.0 g of potassium hydroxide in 0.25 kg of H20?

____________ 3) How many mL of 0.250 M NaOH solution are needed to get 0.0200 moles of NaOH?

____________ 4) How many grams of NaOH are in 50.0 mL OF 0.400 M  NaOH solution?

____________ 5) How many grams of silver nitrate (AgNO3) are needed to prepare 500 mL of a 0.300M   solution of AgNO3?

____________ 6) Aluminum Hydroxide [ Al(OH)3] can be prepared by the reaction of Aluminum sulfate and sodium hydroxide in the reaction below. How many milliliters of 0.200 M NaOH solution are needed to completely react with 3.50 g of Al2(SO4)3?
Al2(SO4)3   +   6NaOH   →    2Al(OH)3   +   3Na2SO4

____________ 7) Chalk is composed of calcium carbonate, CaCO3.  The water soluble-insoluble compound is formed when a solution of calcium chloride is added to a solution of sodium carbonate as shown below. How many milliliters of 0.250M  CaCl2 are needed to react completely with 50.0 mL of 0.150M   Na2CO3 solution?
CaCl2   +   Na2CO3   →   CaCO3   +   2NaCl

____________ 7. An aqueous ethanol solution was diluted from 1.00 L to 4.00 L, giving a concentration of 0.0400 M. The concentration of the original solution was what?

____________ 8. The concentration of an aqueous methanol solution produced when 0.200 L of a 2.00 M solution was diluted to 0.800 L is what?

____________  9. What are the respective concentrations of sodium and sulfate when 0.500 moles of sodium sulfate is dissolved in 1.33 L of water?

____________ 10. There are how many moles of bromide ions in 0.500 L of a 0.300 M solution of aluminum bromide?

____________  11. A 17.5 mL sample of acetic acid solution required 29.6 mL of 0.250 M NaOH for neutralization. What is the original concentration of acetic acid?

____________  12. Calculate the freezing point of a 0.05500 m aqueous solution of glucose.

____________  13. Determine the freezing point of a 0.015 m aqueous solution of MgSO4. 

____________  14. A solution contains 10 g of an unknown liquid at 90.0 g water. It has a freezing point of -3.33 ˚C. What is the molar mass of the unknown liquid?

